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First Year Higher Secondary Improvement Examination
Part - 111
BIOLOQGY
Maximum : 60 Scores
Time : 2 Hours
Cool off time : 20 Minutes
Preparatory time : b Minutes

General Instructions to Candidates :

e There is a 'Cool off time' of 10 minutes each for Botany and Zoology 1n
addition to the writing time of 1 hour each. Further there is a 'd minutes'
'Preparatory Time' at the end of the Botany Examination and before the

commencement of the Zoclogy Examination.

Use the 'Cool off time' to get familiar with questions and to plan your
answers.

Read the instructions carefully.

-Read the questions carefully before answering.
Calculations, figures and graphs should beshown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

_Electronic devices except nonprografnmable calculators are not allowed 1n
the Examination Ball.
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PART - A aonn
BOTANY St

Maximum : 80 scores

* Timeé :'T-Hour
Cool off time : 10 Minutes

Answer all questions from
question numbers 1 to 4. Each
carry 1 score.

1. Fill in the blank.
Small disc-shaped structures at
the surface of the centromere are
called .............

2. Observe the relationship

'between first two terms and fill

in the blank.

C, plants PEP case

C, plants

3. Which one of the following
features are applicable “to
bacteriophages?

a) They are bacterial viruses.
b) They have double stranded
DXNA as genetic material.
¢) The protein coat is called

capsid.

1) a)andb)
11) b) and ¢)
111) a) and c)

1v) All of these

KR-51
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4x1=4)

1 ymad 4 cueowga aggyo 82i0B)EMmPDSN}0
2AMBOAR)WH. 80800 M™MIMie 1 mismod
almo. (4 x1=4)
1. afigeatow oo iBialloeyds.
emmesodlwdlot ~ios HOEM M
W's’ @paielelenes aaloiw

BOUDETBROENT ...ovvnrrrrrrir, :

2. mra06m 0 aiemd ®eczizngs
LMo aMmileiossl] allg) @aiow &8owo
aljla [|66)0;. 3
C, mmyemad : PEP seamy

C. mryemd

3. enioadldlemosanmmeas malew
UOBR aRO®R;00?
a) @A Mmoatlwees BB@:a]
BTN HOOUOTVIBEI6M.
b) =alme: aimiey ek misomas
{062 9 d) 988 DNA moem.
€) BloglM BHOLOOD dmyoalmiial
A atowymy,”
1) a) 9o b) go
ii) b) oo ¢) 80
1i1) a) ®o ¢) o
1v) e0QUs? ag)ejoo

2 by

Please visit: www.easybiologyclass.com



Print Less... Save paper... Save Trees....

4. Choose the CORRECT answer.
All tissues on the innerside of the

endodermis together constitute.
a)_ Conjuctive tissue

b) Stele =

Aia n i

¢) Pericycle

d) Vascular bundle

Answer any 7 questions from
question numbers 5 to 13. Each
carries 2 scores. (7Tx2=14)
5. The following figures A and B
shows two different types of

phyllotaxy.

EBC
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4. »dwow 9EMrc HDOOETDSIEN.
agyBeowoewdalmlm’  eoggleowl
OEMIM  DIPIAUMD  BHLIBHORW Yo

BB A OWIM BaIOIEN ........
a) @emaouiFla) glayy

b) il

C) ealBeenuesiad

d) cuomimsyeiond enuddauic

5 oo 13 cuenweg ealoryemglmd
cgemmlalo 7 agenadilal 9Emeeaw @ .

808RoMImle 2 Mig:od allmoe. (7 X 2 = 14)

3. A B g ofoem®d oo oo

adlegosommiow avialiafieem,.

Idenfify the phyllotaxy A, B and

explain them.

KR-51

For more question papers

A, B adlegiosomsmll @lolgciwde.

@0 ACIBR0B) .

3 Turn Over

Please visit: www.easybiologyclass.com



Print Less... Save paper... Save Trees.... EBC

31

6. Observe the

given stage of

mitosis.
7N \:
I' d J "
\ ..‘“ﬁ i
! P .‘.'-'\_ i
# \\1 1
] i ; J:},:- !

Identify the stage and write any

two features of it.

The element is said to be
deficient when present below
the critical concentration. What
Is critical concentration? State
any two kinds of deficiency

symptoms shown by plants.

Match the items of column A

eeacgomimien eeise aidles 6@’

18 ir

!I '.{'/;‘F-"’ F‘% .!

& i
7

£
I‘-_ h&-_-p'-:‘::-i:fﬁ ,-‘I
7

\1\ ol £

“2ige agaoan’ @ldloiolwis. oD
coigmleon o’ maewat® o

Qg)$I® ).

(15l e0dd GO MM O Sy MR
0T @galiad H0emeqis;emio
POEIM 630} DJBIdH0 BRAIQYOIMDBIOEMNT
OQYM®. (Bl B6as DM TVMES
@ ag)MO@ ag)om'? v, e 8T ad
MO SN ane@esieijc @

@O0 TM®D 21 BHEMEMITR )P4,

es080 Awie Bwio eaiwyoas]

with column B. CoIBH6) .
Column A Column B
a) | Prothallus 1) | Asexual buds in liverwort
Giaomonimy’ ' elaRkecidgedios: @rentousld QYBRETCR
b) | Protonema 11) Sporophyte of angiosperms
&l l06g00Tin . @DMHIEWOCTIBHROS Ehivcenlalollalay
¢) | Antheridium iii) | Thalloid gametophyte of pteridophytes
BOTOCA Qo OSAIEONIGIMHRINS MOGLIOWL 2o [[ateTolalNeTal
d) | Gemmae 1v) | Male sex organs in bryophytes
622E0 22 EUEROOOANYPHBYOS @V (I@yeia 106Mm Bowe
v) Gametophytic stage of mosses
 eoomeaes nodlegoeeanglss caige
K Kr-51 4
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9. QObserve the following pathways 9. mpanmOEDBleR oang dlalled
o>f anaerobic respiration. @B EOM@ TSl B68.
Glucose
L
Glyceraldehyde
3-Phosphate A
NAD* '?'(NAD"'
N NADH+H*
NADH+H '
3-Phosphoglyceric
acid Pyruvic
i a‘g:d NADH+H*
0l / > NaD*
Phosphoenol y +CO,
Pyruvic acid B
Identify the products A and B A, B ol gdbalmmend
Give an example of organism in @@l Clwds. D ©TalMem sl
which any of these products are age@®slele e wldasienym eo)
formed. ( a8 £EA0MEMe af)PITH:.
10. Observe the T.S. of a plant part 10. eay AUV BO M @M 6 T.S.
given below. ' ORI LT GBALDO .
0 :Sg
&y
j‘ ; vascular vascular
O W bundle bundle
'-‘_“.-‘ .l
! Vo
Identify the plant part and (rur)EdLDa Re® @ldlgOlw.
explain any tw_b features of its EBeR QOMIBeI0d aUBAUTEYHEINS
vascular bundles: mGT,@u maflecvat®med ag) ¥ iy
KR-51 5 Turn Over

For more question papers

Please visit: www.easybiologyclass.com



Print Less... Save paper... Save Trees....

11. The opening ‘and closing of 11. wod alooled @@o@o,}@"lw"!éjégg
stomata 1s aided by the DoBUW  PAVRIEELOS {ceaorl)jm%'
peculiarities of bean shaped E000amRaes) MANERHmEHSIE
guard cells. Mention any two @D 0y B LWo 2086, o
such peculiarities. ERSWIM@IMIe MAOIWBHDIEIMNE.

BOEMOOTTENRES BN TOONBURaxmBUWD
ag)F IO

12.7 Observe the figure given below. 12. ajaies o@deloicesm afoo

8o 9.
Inter- Inner
membrane  mitachondrial
space membrane Mainx
.o B

D¢-

8 B ‘—L -.“'
vt [

Mo

AAE X

RIS

L 5

Fill in the blanks A, B, C and D
with appropriate terms from the

box given below.

001®00w aBaB®  eandd, e
wimmge emessrmsies A, B, C, D

oy ajy@lafiee)ss.

Cyt C,

Cyt b, FeS, UQ

KR-51
For more question papers

6

Please visit: www.easybiologyclass.com

EBC

317



Print Less... Save paper... Save Trees....

1.3.|;£;Aglides contaln miore nitrogen
- than the aminoacids. Name two
,l_‘i:;nportant amides found in
plants and explain their

formation.

Answer any 4 questions from

question numbers 14 to 18. Each

cdrries 3 scores.

14. The nucleoplasm contains small

spherical shaped structures.

a) Name the structures.

b) Name the openings seen n
nuclear envelope and state

their function.

15. There are certain seeds which
fails to germinate even under
favourable external conditions.
This is called seed dormancy.
a) State any two reasons for
sced dormancy.
b) Suggest two manmade
measures for breaking seed

dormancy:

KR-51

For more question papers

(4 x 3=12)

317

13. a@oolemo @ W8 8O0 R

pemssm @SRl @UWOoem
@eOMWR. MVIVYEBEIEY &HOMee]
Sy RENE [ WOMeaS @OOSDAU D
oRe®Ed0? @A DB LM @

Q)EROM QOB

14 oo 18 aiecw88 galogyemglad -
age@®ilele 4 ageROTIAT QEOMROALI®IS:
aos@omiime 3 MUe®od all@o. (4 X 3=12)
14. mégcgﬂcz@o%ocmm%@ QYOI O]

6101w aplsM& W

ollenga
BHOEMEQSITN]-

a) HAIWES EalOAD?
b) myglwod agyeaelg /1@
SHOEMO|SyN (Ul eemmns

Ca ORI, AAI@IeS wWoro

) PATI.

15. @remyeein0w aldiasldial e2isesmd
pigymomEmEsiaio alle eHIQIP AT
D8 eeymiigl. Oaiem oflemio
mel@oUMSle ey alOWIMY,

a) aflewled mial®@oaminees
5ag NS HOEMETBR A PITS.
b) alemiedq avyef @O0

ED|0MODRICD VAN LBAOW OETE

@y @m DODWEIBRD af) Py,
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16. Arrange the following events in

the appropriate boxes.

a) Formation of ATP and
NADPHQ.

b) Only photosystem 1 is
functional.

c) Formation of ATP only

d) Both photosystem I and
photosystem II are involved.

e) Splitting of water.

f) No oxygen release.

Cyclic Photo- Noncyclic Photo-

phosphorylation phosphorylation

KH

Based on the symmetry, the
flowers can be classified Into
three types. Name and explain

them.

Name and explain the structure
of cell organelle that is involved
in photosynthesis.

(Hint : Write four structural

features)

16.

EBC

317
2006S mm%:sfl@'lm?mgm (&
£O8 CMIDBMIM ROMIEWIRnow)
(@685
a) ATP, NADPH2. agymiaieyes, -
£@aj0amo. o

b) @andeg0miiguo I aomo winidemm
SHDMIEN),

¢) ATP oowo @m%g:'oe'lgcpaes)agd
Slaasll

d) eanoesomigys I, @andegomslayo 1T
agymial alemsyeemy,

e) meewlon alleaisme.

f) sowmigm alomagmig).

DOTVNB; €nnoESo- EMOATBOTUEES Ern0e50-

GandMiGanodleai Eaoomianodlesiavmd

17.

18.

miloas! @omyrodia) allHOe8 mmoef.
®ec @lela/l@ienym;.
@OAUQOS BalOTPIBS:.

@A AflER0H6w:.

(@ HORMOETar emEmIAl al6m.5)06)
M EHONOLNOTION CalOrP @b,
@@ caism allidlens.

{aim : moe egismo qafieuony

®HR)
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- B
ZOOLOGY

Time : 1 Hour
Cool off time : 10 Minutes

Answer all questions from
question numbers 1 to 3. Each
darry 1 score. B3 x1=3)
1. Which among the following
represents the CORRECT

sequence?

2. Plasma without clotting factor is

3.  Xote the relation in the first pair
and then complete the second
pair.

¢

‘%‘5

1 oymad 3 AerWI8s 0f)gjo 8.2l10BRUWBN 0
HAMHOORP@ M. B06OMIIMe 1 aiesod
aflo. (3x1=3)
1. ooy omidesmaucid wndwow

BOOTE O\ aR®?

a) Kingdom <« Phylum <« Class « Family «- Order « Genus « Species.

b) Phylum « Class « Kingdom « Order « Family « Species « Genus

c) Kingdom ¢ Phylum <- Class « Order <« Family « Genus < Species

d) Kingdom <« Phylum « Class « Family « Genus <« Order < Species

o

OB G allSiendmd manoafeanimm
n ' N ) - N
QISdHho BYIU0ENeag o dMnew

....................... agym gl enyrmy.

3.  @peweEm aleezons @oiaes imloe
omqleoss’  afgea 0@ 80We
¥

D@ @068

Fasciola

Taenia

Liver fluke

KR-51

For more question papers

Turn Over

Please visit: www.easybiologyclass.com



Print Less... Save paper... Save Trees....

EBC

317
Answer any 9 questions from 4 oymad 14 cueowias 8ai06)6m el @
question numbers 4 to 14. Each agio@slae 9 agemarilay gmmaaﬁﬂ@&.
carries 2 scores. (9 x 2=18) | eosroamiImio 2 miem:0d alimo. (9 X 2 =18)
4. Expand the following hormones : 4. ®o0% OMITleaM anIdEBoM e
a) TSH Q165 aldemTialo o) eIO .
b) ACTH a) TSH
c) ANF b) ACTH
d) FSH c) ANF
d) FSH
5. Observe the diagrams given 3. ooy m@HlNdlenym aflimemdd
below : M Blednzd] 06185
F A TTE7
N\
NN, EEN S
(A) (B)
a) Identify the tissue A and B. a) A,Baprd a8 0ldlg Gl
b) Name the specialized cells b) AB anl somglon nemys
present in A and B. OO ELONRTIZOE EnlOOP)BE.
6. Give one word for the following. 6. @IMERIRCIW 8G alBe )PIEIS.
a) Presence of 2 sets of teeth in a) dale soswaald eend eavg
the life time. 2R EHOEMOISIM. '
b) Teeth are present in socket b) aigue cacemafon @l s
of Jaw bone. cudieh ©aiguaom;. ’
7. Classify the following terms 7. @6y @rm“m”oes)g,m aleemeg ©ee
under two suitable headings. olobagene moo T2
Neutrophils, Monoccytes, Eosinophils, Lymphocytes.
KR-51 10 A

For more question papers
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RES/ : ! 8., &A@ 8peais® af®’?

8, Find the odd one out. Justify ISTTIE BFOIS® o8
OEHOO TVIUHETIBE .
your answer.

Saw fish, Jelly fish, Flving fish, Angel fish, Dog fish.

9. a) Identify the graph given 9. a) woey OMIEIENT (Woad’

below : @ 2 AN,
> .
5 L M
= I
2 100 - J
2 //
i) {
80 &
z /
[
£ 60 / .-
g / |
2 40 / | |
? 2 /]
v —
g Y L |
g 1
g . L
£ 0 20 40 60 80 100 .

Partial pressure of oxygen (mm Hg)

b) List the factors responsible b) eos ] aclemoeg osniiad
for the formation and 6300 @Ye fleeiS]BaBWie
dissociation of e olgmmalm S00MOOW
oxyhaemoglobin. 2p1SEHEB0 a@e@R00”

10. Some conditions related to 10. Q66 UoeUMLAdW @®OAVIEUET O
kidney disease are given. e @ocLTlas® ®oIEeaIy.

e Accumulation of urea in o eI ©0lw @ sl ey
blood. BISLTN:

e Malfunction of kidney. o UEOWOS (I am®

OO LidHEN0.
I . a) & ERAITOWES CaIORH?

a) Name the condition.

b) afemges @& QOB (e

b) In your opinion, suggest the .

) y R ;, SugB ®BHEO0IMe  @CdNg QUHe
treatments for kidney failure 8:00M0 agyT Al ru@osn
and acute kidney failure. ealid 98se.

KR-51 11 Turn Over
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11.

12.

13.

Identify the disorders based on

the symptorﬁs | given below.
a) Inflammation of joints.

b) Decreased bone mass and

increased chance of fracture.

c) Inflammation of joints due to
the accumulation of uric acid

crystals.

d) Rapid spasms in muscles due

to low Ca++ in body fluids.

Name of certain animals are
given below. Write the phylum

of each animal.
a) Pila

b) Pleurobrachia
¢) Nereis

d) Balanoglossus

Select the WRONG statement

regarding muscles from those

given below and correct it.

a) Each muscle fibre 1s lined_ by
the plasma membrane called

sarcolemma.

KR-51

For more question papers
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11.

12.

13.

®O6YP alO@m 8 6M 683 (B
(al»00m88 616 (U LIS M D
WIIETTellW)r:

a) mawlegldd afdaflesc

b) @omudie:aies eodlmyo @yowimy,

RSIWOIMBE TVOURE® STy

¢) @dles @pmilas @aledd eeslent
#JSIN@  HOdEMo TV 581

mdalleso ©emsosmMy.

d) esoewlcd s:0cmyEsland aeant

BIOWIME  &HO0Mo (WD

nEIRees Galwdl qLEE:ILle.

ollel RODIEOSIOS GaIRdR 2 0I0S
oM B3N], BRCUQOS

eeanelemlean BaIOOFYDY:.
a) Pila

b) Pleurobrachia

¢) Nereis

d) Balanoglossus

calW@le:6g &lo] @oay mmildlaniom
lalmo M al@d omQoIDAl
GlEOETMS)OT SIOUET agyLi®Ib:.
a) 806M0 Gl EeANMIOIGHORW]I0
BYHOIOEMO a.rutﬁfasi’ MRS
gJomimo MNEEE® MIBEHHILIED

agom aflgleaymy.

EBC
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b) The light bands are called ‘A’

“band or Anisotropic band.

¢) The portion of the myofibril
between two successive 'Z'

lines 18 called a sarcomere.

contains a red

d) Muscle
coloured oxygen storing

pigment 18 called myoglobin.

b)

d)

© 1A v
poaig) oMU A" sruocdaw
ag)@mo maamcmomsow%eo“

o agemno QlIEIeaiM:

@OS)CHSOTRRS oed 'Z'  eoal
H81eS sl 288 OO

rodeaeoaiwd agm aflgleenmy.

Ealut] gl @ £06ME SN
2@z oEEEeITD den

QursmQI0em pewoeggosniidd.

317

EBC

4. a) Among the following body 14. a) ®o6¥ @MOIQILOHTO YCHCIe
parts squamous epithelium is @ MEonm agy/ierfiefiwo
found 10 ..ooeee- £06MOQSYND ag@ileioem?

i) the ducts of glands and D) ndlegies@ie SMERIM]
tubular parts of nephron. BHEOSVIO wasEm@go.

ii) the lining of stomach and i1) EREORWETIR®L asefled
intestine. o o8-

iii)the inner walls of blood ii3) e mangefio@wio ap@all-
vessels and air sacs of EWONORHIOSWI0 oW
lungs. Aarofi@.

iv) the 1nner surface of iv) anoeeioq /i@ 008 @S0
bronchioles and fallopian eeomle@oddmiloR@ie ou
tubes. - deniaid.

b) Write any one function of b) @000 DEME ag)g:{\m“\eﬂm)msﬂa(@
compound epithelium. " ey wdano gL
KR-51 13 Turn Over
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Answer any 3 questions from
question numbers 15 to 18. Each
carries 3 scores. (3x3=9)

15. Observe the graph given below.

EBC

317
15 ajmad 18 cuenw;ga ealoayanglad
agemsslele 3 ag)epamwiiay MO,
ageamimio 3 miemod allme. B3x3=9)

15. moev @mlaleaiom Woag’

&) Bl 06)).

Transition state

Substrate (s

Potential Energy

Product (P)
Ll

Progress of reaction

a) Identify the graph.

b) Mention the role of enzyme

in this process.

KR-51

For more question papers
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a) el ageem aldloclws.

b) o9 (slwld cgBesmay
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Condplete the flow chart given 16. @6y oalalseym alegd 4100g
below:" RO T\ D6
Central Neural System
Brain |  |... (a)......
v L4
Forebrain| = |.ee (b)...... Hindbrain
v
...... (c)....
!L v v
Cerebrum |  |...... (@) Hypothalamus
O (=) I Cerebellum | | ...... {3 D
KR-51 15 Turn Over
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17. Observe the diagram showing 17. e 6oean2OTOR  (LEOYH®
the characteristics of a phylum. @oenlemmm afli@o MIdledlees.
a) Identify the phylum. a) eaancio @l Ol
b) Name the part labelled 'A’. b) 'A' agmswogeaisiasiaidenm

¢) Point out the three EOMOTIOM GalOOPIDIb.
fundamental characters of c) 607 eeanalETEiod 3 @wgloundim

YEDOUETBIR gy LITIEs-

the phylum.

18. Complete the table given below 18. moer @aridleanm aiGid gallanow

by using appropriate terms. " aIceBMR ©alewoulln] alidioiees.

Gland Hormone Function
Pancreas Glucagon | e (a)....
........... (45} U Thymosin Immunity
Pineal gland | = s (€) soussbiiss 94-hr diurnal rhythm
Pituitary gland Oxytocin id)eni

.......... (€)einnnn Parathyroid hormone Increases Ca®™ level
in blood
Thyroid TCT/ Thyrocalcitonin sl E) usnosnams

KR-51

For more question papers
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First Year Higher Secohd»ary Improvement Examination August 2018

( Finalised Scheme of Valuation )

Subject : Part - Il Biology - Part - A - Botany Code No : 317
Q.No. ;unb Scoring indicators Szlclzid l:;i
1 Kinetochore 1 1
2 RuBisCO / RuBP carboxylase oxygenase / RuBP carboxylase. 1 1
3 iv ) All of these or Any option credit full score. 1 1
4 b / Stele 1 1
5 A - Opposite 1/2
B - Whorled 1/2 5
A - A pair of leaves at each node / Leaves lie opposite to each other. 1/2
B - More than two leaves at each node. 1/2
Telophase 1
. Chromosomes cluster at»opposite'poles / ldentity of chromosomes as 5
discrete elements is lost / Reforms nuclear envelope / Nucleolus / 1/2
golgi complex / ER (any two relevant responses) 1/2
The concentration of the essential element below which plant growth 1
7 is retarded / Its meaningfull explanation. 5
Chlorosis / Necrosis / Stunted growth / Premature leaf and bud fall /
inhibition of cell division / Brown spot surrounded by chlorotic veins 1/2
(any two responses) | 1/2
a |Prothallus - iii) - Thalloid gametophyte of pteridophytes 1/2
3 b |Protonema - v) - Gametophyte of mosses 1/2 5
¢ [Antheridium - iv) - Male sex organs in bryophytes 1/2
d |[Gemmae - i) - Asexual buds in liverworts 1/2
A - Lactic acid 1/2
9 B - Ethanol 1/2 2
Bacteria / Yeast / Muscle cells (any one point) 1
Dicot stem- 1
10 Vascular bundles are arranged in the form of a ring / Conjoint / Open / 1/2 2
Cambium present / Endarch xylem (any two points) 1/2
, The inner wall of each guard cell towards the pore is thick and elastic / 1
11 Outer wall remains thm / microfibrils are oriented radially rather than 2
longitudinall b}an twcoe Iglgt?%m SlexspIes - 1
g y A (any two points)
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Q.No. Scoring indicators i ;‘C’i

A-FeS 1/2

12 B-UQ 1/2
C-Cyth 12 | 2
D-CytC 1/2
Or any two correct response give full score
Asparagine 1/2
Glutamine 1/2

13 . . . 2
They are formed from aspartic acid and glutamic aad/oy addition of 1
another amino group to each / They are formed by the replacmg of the \
hydroxyl group of the amino acid by another amino group(NHz radlcle)

a |Nucleolus 1

14 b [Nuclear pores 1 3
Movement of RNA and Protein takes place in both directions between 1
the nucleus and the cytoplasm

a |Impermiable and hard seed coat /Presence of abscissic acids /Phenolic 1

acids /Para - ascorbic acids / Immature embryos (any two points) 1

15 | b |Seed coats can be broken by mechanical abrasions using knives, sand 3
paper / vigorous shaking / chilling of seeds / application of gibberelic
acid and nitrates / Changing environmental conditions such as 1/2 -
temperature,light (any two points) 1/2
Cyclic Photo phosphorylation Noncyclic Photo phosphorylation

16 b)Only photosystem | is functional a) Formation of ATP and NADPH2
c)Formation of ATP only d) Both P.S.land P.S.il are involved 1/2x6| 3
f)No oxygen release e) Splitting of water

Or Schematic representation

Actinomorphic / Radial /€P - A flower can be divided into two equal -
halves through the centre in any plane

17 Zygomorphic / bilateral /aﬁ - A flower can be devided into two equal yai| 3
halves through the centre only in one plane
Asymmetric / irregular - A flower cannot be divided into two equal Sl
halves by any plane through the centre.
Chloroplast 1
Lens / Oval /Spherical shaped,Having length of 5-10Mand 2-4¥"width,

18 Double membraneous, stroma ,Thylakoids ,Granum ,Stroma lamellae, 3
Lumen, Circular DNA / Ribosomes / Chlorophyll pigments 1/2x4

(any four points) Or Labelled diagram.
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EBC

FIRST YEAR HIGHER SECONDARY IMPROVEMENT EXAMINATION AUGUST 2018

CODE. NO:317-B

-WQ"_ _Sar_ o Answer Key/Value Points F_-Sco‘re | Total
_No | Qns B -
l. / Kengolom <— /Oﬁjp[wrx' ClassOncler | 1 1

d
- ’/cum@ Fenus & Speeres
1 1
| Sereem
1 Tapewaxm 1 A
4. () | 784 - Thyroid Shm u,/al:» #eamone. A
() | Acry - Abbeno Conlies 70 a: Hovman yL 2
@ | anvF - Abua/ /\/alitaxeﬁ Fael33 /
(d) | Fsu - Follch f/’u/aﬁ%f Hoamoma. ,
5' (v A - ()ML/G(??— 8 - Boﬁe, %—472
Cb) A - C’im;([qo%@/éfmaﬁoé/aﬂé /Cw.(t/a(;e elf };_ g
B - 0.9/\0?/& /Offcé/ajé/l?oﬂe eells 71
6. (W oclont l P
| (b) 'fj(:cy/cmf /o domt o
7. rtanalocyles - /\/ew&a/oM Eo-.'wo/?h[g y+'/L
i% "/3;@ - Monogts  Ggrplogle ] 2
7% o Cont etry
c< muf %wcr’éh;?}c:u Mz? ne:)w mnie esiThout
(olre |
Q. T sh' /[t v n crb/r‘c’omuanc/&l\'l
’ dé”/ Criclassa C‘oe/enﬁraf G/Kem 02, !
duwAd/ i;f:cé'(;[;gf / ehvet / gi Z/.U
1%/ socialiop Cerve /Husoualiop cecave
- (&) 3%0(0/ vae /')wenf J@qﬁmi I wild Hh ' 2
() /fg_z , Pco, , 4 ! Concenbalim CPH D, /empda,éa;. |
Cﬂnu Cﬂ /KL ZZJD ./G-C/'U C’aua/ one. J‘com) B
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Q“ s“b Answer Key/Value ] i’o‘_ints Score | Total
No Qns .
10 (a) UUremia / /(ra[fy ax/wu_ |
) /-(zc[n )/cu[wu_ //aemoo(vaﬁ/m / Dfa ;/:/(" J
/((05; nam/o/an / |
ﬂca,é kcc&;g {au kea/my anf//cw/né |
W Al te | Ty
(“f (Cc; O leoponct¥s y 9
(@ u./ A
(3) /Muﬂu/an lelany /
12. | (& /M’a ~ Molluscq ]
Bl (v) Plecwobrac hd - C’/?ﬂa/o/)oxa ‘Z_ 2
(¢) /\Vexels - Annelicla y
. /d ) Ba_/aﬂo(?/ol.ruﬁ — e ehondata 7?_—'
13, b. | |4
7he Light  bands called 7 band;
Zd/zjfcc Ao.na’,r . Dast bands / q o
o Called A 6anc/.r/./4nuo/ i bands
| 1;, oy | W/ The eoalls g blood vesels and| 4
| | ad Saes 7 ,[uni/l N
'(b) /Dmrf'wé'mo /fovu Ha o/% u%w,g ¥
| the Sk [/ moult fw{ 1
A a/ cav /D /)[ £nney
dﬁ :"al?ai; 2/aﬂc[r’ maewfc&:{g
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Qn. Sub Answer Key/V alue Points Score | Total

No Qns

5. ) [’ 7 ﬂcé‘fxad;p C/?ei //Oﬁo et l-,/L
= mm o e pnwf o1 axéfez:z |

7, ne 2
7 2 i
@f)ﬂ% ? CAGMLCQ/JTQQLEO/ [nCreases
. '&/aee-d ) chemed) swaclim
_1—(:.“’(&) 5/):)70\/ coxcl | A I%_
(5 | ™id braw /3
(e) | Corporat v(p’aa.o(mgem'wa | Y, 3
| (d) Thalamus ';,_
e) | [ons v
b | Nedutta oblogets i
' C An cve Cg,u-{eL/' Steqponfes Gcw{.y -
fuﬂ Jeone ) |
I7- | (&) | Chordalo. 1y
) AVeaxve Cor ,. E

Presence g No ’ﬁcéoxd’} [ nesesca c(ax.ral ‘,
Pollow hewe cord, Presence o pened | V1,

p\fjtg:f;{; i}d «f&é / Lett apa;/ @//

|

fen o/ e o o
(«An ome c’am_ec/-s—(u/)ome{lévm‘ orn

KA Scou_)

b Cavues |
(\ﬂfifll M comtect | '»#&qufme {nam
o cavy | [ - score ) |
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| Qn. | Sub Answer Key/Value Points Score | Total
- No Qns B ‘ _
5. | () Ineaeases  blood su M/Maxb@f nowmd)

(b)

&
(&)

(£

| /w;\mwne//?ealucu Cellw/az
'jéfco en
Thymus _

./ A

| wdals conlDack Imoolh muschy/
| %Z,né‘&f 0” acawj child 50#/5?

é/ooo/f(uttﬂe Level //gpw;/fycem‘cc

g/éuuﬂe. and utidy el lr.?m/afa
o’%ru/rf/__u/a/' one(;e/mu
Melalonin %

mlk o» {Jvom /ﬂammaﬁj,/
/')arrdj%'j/ow(
/?c u/afu 5/ooJ C’aﬁlam/eve//?)weadu
6/0{ i deve / ca md‘&é&&m / |

/9,10mo’fe4_ ﬁl 0/90011500? Ca 7 Aowe
and leelh |
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